
4th August e
Thelines y :r -7 and y = 4x - 19
intersect at the point A.

The point B has coordinates (-2, I l)
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Find the equation of the line that passes
through Aand B.

fi=-b ^-4-63
I- n. -J{*+z;

,{ ^ -ir+ 19
J33

qlA r(-7=l+r-19
l2=3x
r= lF n (+,-:)

Find the distance between A and B.

AB= 62 + l+1
EN ( r5 23)

Solve 5sinx = Sco.rr for

0" <;r < 360'

+"4 I:(. 5
{=5go".,23gOu

A
4.{2 cm

B

3{? cm

c

Calculate the length of AC.
(non-calculator)

Ac2= (+rz)'+ (:'|r)1- z(+Iz)(zn)
cos l2Q'

= 32+18-t*Scos 120"
= 5o+2\

Ac " Grr'

Prove that

.sinx - sin3 x
= t0 nI

cos3 x

Sta x ILHS =
cos x p,H
tan *
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